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HISTORY
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Paper : 4.2
( History of Europe : 1453-1789 )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions in one word or
in one sentence : 1x10=10

Coq 2pgEd T bl X 1 TS fay

(@) Who was known as the ‘morning star’ of
the Reformation Movement?
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(b) In which year did the fall of
Canstantinople take place?
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(d) Who was Kosciuszko? Why did he fight (d) Maria Theresa
ainst Russia, Prussia and Austria? -
e 3 R eI
| R @F wite? of Fom, v =
| wfgar Recs (59 & SR ?
(e) Reforms of Catherine II
(e) What was the ‘Pragmatic Sanction’? @8 @R TREFTHR
‘oA oo T et 2
() Louis XIV
ORT TR
3. Write short notes on any four of the
following : 5x4=20
e oifeR [REE Cort feran « s
S i 4. Answer any four of the following : 10x4=40

were AR R e vife Tew o -
(a) Peace of Augsburg

Sa615f4 *Mepfe

(a) Determine the causes of the Reformation
Movement and its impact.

| : ic polic
; (b) Colbert’s economic policy - TR i

T Sefes e
(b) Assess the contribution of Martin Luther
(c) The First Partition of Poland to the Reformation Movement.
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(0 What was the Counter-Reformation f
Movement? What were the chief
institutions related to it? |

AfIER ST [ SiE ? R A |ide

T @EEEARTAd S IfE oiiEfRer 1
FARRR Torol AT 41 |

I3 SRR & =ifee 2
(h) Why is Peter called a barbarian genius?
(d) Determine the significance of the Treaty oo afSerm 341 9 @@ =0 2

of Westphalia in the history of Europe.
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(e) Analyze the services of Mazarin to the
greatness of France.

FE oS e S9RCeR1 GRR fo ficetrs=
31 |

() What led to the Treaty of Utrecht (1713)
and what were its results?
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(g) “The reputation of the Hohenzollerns was
enhanced with the advent of Frederick
William, the Great Elector.” Determine
the truth of this statement.
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